EARAROBREBRT —5 XN—ZXBISH—F 2021108178 (H) 40R#4H

mﬁagg‘gﬁi 1752 (B8 EEE N
[xE<] 1% :7,600,000 3 2 3% :3,000,000H  33%:1,900,000 . 4 3% :1,100,000 M 5 3& :760,000
FRERS /M HE B5F (F28) FA4L (5% | BBIEML | E3F |[SIEY | AT | #AE | B FIR) / BF / S£ERS
Sy, L C. JUX—=)L : -5-3- BREE (FR)
&) RY—<— 4 3 550 2.(0_2).9 4-5-3-3 | 35.9| 94.0 3 (4:28) 0 S e
RiW=5—=vwF B/ UIvUR #HBEIT7—L
A EERE : -1-1- WEFE (E=R)
7+ 3 2 2(70%:? 1-1-1-1 36.2 | 94.0 7 (4+528) areel
R:ZvF—TA) B:95./0-7IY EANEEe]
—n JINEEER S : -5-6- RBRX (FR
Fa—F 4t 3 530 (é(gé) 6-5-6-6 | 35.7 | 94.0 1 (4_220) E;KI?“:}E )
RiE—UR B:IsILy—F /=Y Tr—I
o D » HHEA : -2~ AiESH (R
—hveEO094 R 4 3 = 2(.10/32.)0 2-2-2-2 | 36.2 | 93.0 4 (:122) Vbl
R:FF B:ZiRvEO7ZVN— REHS
~, e = =~ 4 4 EES: 2:03.4 7-7-7-7 | 35.7 | 89.0 5 504 | KIEBA (FER)
505|5 | FYIFTRSIY %53.0 @1/ (130) | EEHEB
RIN=YITSA4 BRNHRFA b #HBEIT7—L
5 o =D BKE— : -4-3- AAREEE ()
ARRE TN w5 | B pe | a2 [mees| 2 | @ e
RiFVTHAXNXN B:Rw ~—L /=Y Tr—I
Sy b~ ABEAR : -7~ = ER
. 6| 7Y RAVIST 3 | Al 2.%.6 8-8-7-7 |37.0|77.9 | 8 (433 ?;ﬁﬁémﬂ)
RIRVIATAwIO+UT7— B:EIH—bO-Y /=Y Tr—I
=D = 3 GSHER 2:04.8 2-2-3-3 |37.8| 76.8 6 518 | FESEE (FH)
8|7 7747749— i 55.0 (1 1/4) @y | B IYF-L—yVT
RiW—>—ywF 8:7r7O07—X =YV Tr7—L
[ BN
En'n 47.6-36.2
NOYIAL | 12.9-11.9-13.3-12.9-12.3-12.0-11.4-11.3-11.9-13.0
@ 1—F—&BIE(I
13—3+— |3(4,7)(1,2)8-5-6
20—F— 3(4,7)1(2,8)-5-6
30—7— 3,4(1,2,7)8-(6,5)
AS]—cl— (*3,4) (1,2,7)8-(6,5)
@ Ih\R%
B s 2 30| [ D4R 2-3 1,100/ S & 2-3 6,080 3EE 2-3-8 2,400
B B 2 120MH 2-8 200 =51 7=3) 9,910H 3EH 2-3-8 25,670M4
3 3309 3-8 7204
8 110M9

ABIC OV TRUTEREERRODDZE. THRIIZEL.



